Quiz 9, Micr-22, C. Briggs, Fall 2012 (1pt each, unless noted)




Name on back  

1. True or False: Mutations that are either silent or harmful to cells occur more frequently than those that benefit cells.
2. True or False: Direct, cell-to-cell contact is required for transduction to occur.
3. Name two types of radiation that can cause mutations. 2pts

4. Transformation is the transfer of DNA from a donor to a recipient cell

A) by a bacteriophage.                

C) by cell-to-cell contact 

E) by sexual reproduction.

B) as naked DNA in solution. .           
D) by crossing over.     
5. Genetic change in bacteria can be brought about by

A) mutation.          B) conjugation.          C) transduction.          D) transformation.          E) All the answers are correct.
6. Conjugation differs from reproduction because conjugation

A) replicates DNA. 


C) transcribes DNA to RNA. 


E) transfers DNA horizontally, to 

B) copies RNA to make DNA. 

D) transfers DNA vertically, to new cells. 

cells in the same generation.

7. The general term for the exchange of genes between two DNA molecules is ___________________________________.

8. Self-replicating, circular DNA that is smaller than the bacterial chromosome is a _______________________________.

9. When glucose levels are high, cAMP is _____ : CAP _____ bind the lac operator, and RNA polymerase _____ bind the lac promoter.

A) high; does; does               

C) high; does not; does         
 
E) None of the answers is correct.

B) low; does not; does not 

D) low; does not; does 
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